
S.No. Language Question Option 1 Option 2 Option 3 Option 4

1 English
The maximum permissible limit for fluoride in 
drinking water is

0.1 mg/l 1.5 mg/l 5 mg/l 10 mg/l

Hindi
पेयजल मɅ Ýलोराइड कȧ अͬधकतम अनुमेय सीमा 
है 0.1 ͧमलȣĒाम/लȣ 1.5 ͧमलȣĒाम/लȣ 5 ͧमलȣĒाम/लȣ 10 ͧमलȣĒाम/लȣ

2 English
How can tile drainage help to increase crop 
yields?

Increase volume of 
soil

Increase water table 
level

Decrease air 
circulation

Increase free gravity 
water

Hindi
टाइल जल Ǔनकासी फसल कȧ पदैावार बढ़ाने मɅ 
कैस ेमदद कर सकती है?

ͧमɪटȣ कȧ माğा 
बढ़ाने मɅ

वाटर टेबल लेवल 
बढ़ाने मɅ

वाय ुसचंार कम 
करने मɅ

मÈुत गǽु×व जल 
बढ़ाने मɅ

3 English Activated sludge process is an example of
Anaerobic 
suspended growth 
process

Anaerobic attached 
growth process

Aerobic attached 
growth process

Aerobic suspended 
growth process

Hindi सͩĐय कȧचड़ ĤͩĐया इसका एक उदाहरण है अवायवीय Ǔनलǒंबत 
ͪवकास ĤͩĐया

अवायवीय सलंÊन 
ͪवकास ĤͩĐया

एरोǒबक सलंÊन 
ͪवकास ĤͩĐया

एरोǒबक Ǔनलǒंबत 
ͪवकास ĤͩĐया

4 English

The irrigation method where only one-fifth to one-
half of the land surface is wetted by water 
resulting in less evaporation and less pudding of 
soil is called

Border irrigation 
method

Basin flooding
Sprinkler irrigation 
method

Furrow irrigation 
method

Hindi

ͧसचंाई ͪवͬध िजसमɅ भूͧ म कȧ सतह का केवल 
पांचवा ंǑहèसा पानी स ेगीला होता है िजसके 
पǐरणामèवǾप कम वाçपीकरण होता है और 
ͧमɪटȣ कȧ पुͫ डगं कम होती है, कहलाती है

सीमा ͧसचंाई ͪवͬध बेͧ सन बाढ़ फåवारा ͧसचंाई ͪवͬध कंुड ͧसचंाई ͪवͬध

5 English
In which method of irrigation, the entire field is 
divided into number of levelled plots surrounded 
by levees

Basin method Furrow method Check method Border strip method
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Hindi
ͧसचंाई कȧ ͩकस ͪवͬध मɅ परेू खेत को बांधɉ स े
Ǔघरे कई समतल भखंूडɉ मɅ ͪवभािजत ͩकया 
जाता है

बेͧ सन ͪवͬध फरो ͪवͬध जाँच ͪवͬध सीमा पɪटȣ ͪवͬध

6 English Vascular bundle of monocot stem are
Conjoint, collateral 
and open

Conjoint, collateral 
and closed

Conjoint, 
bicollateral and open

Conjoint, concentric 
and closed

Hindi एक बीजपğी तने के सवंहन बडंल होत ेहɇ सयंÈुत, सपंािæव[क 
और खुला

सयंÈुत, सपंािæव[क 
और बदं

सयंोजन, 
ɮͪवसपंािæव[क और 
खुला

सयंÈुत, गाढ़ा और बदं

7 English The sugarcane plant has
Dumb-bell shaped 
guard cells

Pentamerous flowers Reticulate venation Capsular fruits

Hindi गÛने के पौधे मɅ होता है डàबल के आकार 
कȧ र¢क कोͧशकाएँ पɅटामेरस फूल जालȣदार ͧशराͪवÛयास कैÜसलुर फल

8 English Flowering in sugarcane is called Arrowing Sprouting Tillering Spike
Hindi गÛने मɅ पçुपन कहलाता है अकुंरण èĤाउǑटगं Ǒटलǐरगं èपाइक

9 English
Which of these is the pollinating agent for 
sugarcane 

Wind Water Birds Animals

Hindi इनमɅ स ेकौन सा गÛना के ͧलए परागण एजɅट है पवन जल प¢ी पशु

10 English

Which of the following statements is/are not 
among the major limitations of sprinkler irrigation
A. Strong wind disturbs the sprinkler 
B. It requires a heavy initial investment 
C. It minimize the erosion of the soil

Only B A, B and C Only C Only A

Hindi

Ǔनàनͧलͨखत कथनɉ मɅ स ेकौन-सा/स ेफåवारा 
ͧसचंाई कȧ Ĥमखु सीमाओ ंमɅ स ेनहȣं है/हɇ
A. तजे हवा िèĤकंलर को Ĥभाͪवत करती है
B. इसमɅ भारȣ Ĥारंͧभक Ǔनवेश कȧ आवæयकता है
C. यह ͧमɪटȣ के कटाव को कम करता है`

केवल B A,B और C केवल C केवल A

11 English
Among the following, the crop that is least 
drought-resistant is 

Millets Groundnuts Maize Sugarcane

Hindi Ǔनàन मɅ स ेसबस ेकम सखूा ĤǓतरोधी फसल है ͧमलेट मूगंफलȣ मÈका गÛना



12 English
Pic the odd one out from the following on the 
basis of mode of reproduction 

Sugarcane Potato Rice Rose

Hindi
Ĥजनन के तरȣके के आधार पर Ǔनàनͧलͨखत मɅ 
स ेͪवषम गÛना आलू चावल गलुाब

13 English Seed of sugarcane is known as Fluff Grain Tassel Caryopsis

Hindi गÛने के बीज के Ǿप मɅ जाना जाता है Ýलफ Ēेन टैसल कैǐरयोिÜसस

14 English
Top borer, Internode borer, Stalk borer, Plassey 
borer, Gurdaspur borer, Scale insect, Mealy bug 
are the objectionable insects & pests of

Maize Sorghum Pearl millet Sugarcane 

Hindi
टॉप बोरर, इंटरनोड बोरर, डठंल बोरर, Üलासी बोरर, 
गरुदासपरु बोरर, èकेल कȧट, ͧमलȣ बग 
आपͪƣजनक कȧट हɇ

मÈका सोरगम बाजरा गÛना

15 English Ratooning is practised as a matter of routine in? Sugarcane only
Sugarbeet and 
sugarcane

Sugarcane and maize
Sugarcane and 
Napier grass

Hindi
पेड़ी लगाने का अßयास कहाँ Ǔनयͧमत Ǿप स े
ͩकया जाता है?

केवल गÛना चुकंदर और गÛना गÛना और मÈका गÛना और नेͪपयर 
घास

16 English
Late planting of autumn sugarcane reduces the 
germination due to

Short day Frost Low temperature High humidity

Hindi
शरदकालȣन गÛने कȧ देर स ेबआुई करने स े
अकुंरण कम हो जाता है छोटा Ǒदन ठंढ (ĥाèट) कम तापमान उÍच आġ[ता

17 English
Which one the following combination is 
incorrect?

Kharif crops – Rice, 
maize

Rabi crops – Wheat, 
mustard

Zaid crops – cotton, 
sugarcane

Cash crops – jute, 
tobacco

Hindi Ǔनàनͧलͨखत मɅ स ेकौन सा सयंोजन गलत है?
खरȣफ फसलɅ - 
चावल, मÈका

रबी फसलɅ - गेहँू, 
सरसɉ

जायद फसलɅ - 
कपास, गÛना

नकदȣ फसलɅ - जूट, 
तàबाकू

18 English
Weed which reduces the juice quality of 
sugarcane is 

Aeginitiaindica Striga litura Both a and b None of these

Hindi
गÛने के रस कȧ गणुवƣा को कम करने वालȣ 
खरपतवार है एिजनेǑटया इंͫडका िèĚगा ͧलटुरा दोनɉ ए और बी इनमɅ स ेकोई नहȣं

19 English Ethyl alcohol is commercially manufactured from Wheat Grapes Semolina Sugarcane

Hindi
एͬथल अãकोहल åयावसाǓयक Ǿप स ेǓनͧम[त 
होता है

गेहंू अगंरू सजूी गÛना

20 English What can’t be processed from sugarcane? Bio-Plastics Ethanol Bio-Electricity Bio-Machines



Hindi गÛने स ेÈया ससंाͬधत नहȣं ͩकया जा सकता है?
बायोÜलािèटक इथेनॉल जैव ǒबजलȣ जैव-मशीनɅ

21 English Which of these is not a type of sugar? Fructose Galactose Maltose Cucose
Hindi इनमɅ स ेकौन सी चीनी का Ĥकार नहȣं है? ĥुÈटोज गलेैÈटोज माãटोज़ कुकोस

22 English
The inversion of cane sugar is represented by
C12H22O11+ H2O → C6H12O6 + C6H12O6
It is a reaction of

Unimolecular Second order Zero order First Order

Hindi

गÛने कȧ चीनी के åय×ुĐम को ͩकसके ɮवारा 
दशा[या जाता है
C12H22O11+ H2O → C6H12O6 + C6H12O6
कȧ ĤǓतͩĐया है

एक अणु दसूरा Đम शÛूय Đम पहला Đम

23 English Which of the following is the weakest base? NaOH Ca(OH)2 NH4OH KOH

Hindi Ǔनàन मɅ स ेकौन सा सबसे कमजोर ¢ार है? NaOH Ca(OH)2 NH4OH KOH

24 English Which one of the following is not a colloid? Milk Mud Butter Boric acid

Hindi Ǔनàनͧलͨखत मɅ स ेकौन सा कोलॉइड नहȣं है? दधू कȧचड़ मÈखन बोǐरक एͧसड

25 English
If two reactants are taking part in the reaction, 
then the reaction will never be

First order Second order Monomolecular Bimolecular

Hindi
यǑद अͧभͩĐया मɅ दो अͧभकारक भाग ल ेरहे हɇ 
तो अͧभͩĐया कभी नहȣं होगी पहला Đम दसूरा Đम मोनोमोलÈेयूलर ǒबमोलेÈयुलर

26 English Zero order reaction means
Reaction occurring 
at zero Kelvin 
temperature

The value of 
reaction rate is zero

The reaction in 
which the reactants 
do not take part in 
chemical reaction

Reaction rate and 
rate constant are 
equal.

Hindi शÛूय Đम ĤǓतͩĐया का अथ[ है
शÛूय केिãवन 
तापमान पर होने 
वालȣ ĤǓतͩĐया

ĤǓतͩĐया दर का 
मान शÛूय है

वह अͧभͩĐया 
िजसमɅ अͧभकारक 
रासायǓनक 
अͧभͩĐया मɅ भाग 
नहȣं लेत ेहɇ

ĤǓतͩĐया दर और 
दर िèथरांक बराबर हɇ



27 English
What are different substrates used for ethanol 
production?

Starch containing 
substrate

Juices from 
sugarcane or 
molasses or sugar 
beet

Waste product from 
wood or processed 
wood

All of these

Hindi
इथेनॉल उ×पादन के ͧलए उपयोग ͩकए जाने वाल े
ͪवͧभÛन सबèĚेɪस Èया हɇ? èटाच[ यÈुत सÞसĚेट गÛने या शीरा या 

चुकंदर स ेरस

लकड़ी या Ĥसèंकृत 
लकड़ी स ेअपͧशçट 
उ×पाद

यह सभी

28 English

Isomerism that arises out of the difference in 
spatial arrangement of atoms or groups about the 
doubly bonded carbon atoms are called? (In 
specific)

Structural Isomerism Stereo Isomerism
Geometrical 

Isomerism
Optical Isomerism

Hindi

ɮͪवआबंͬ धत काब[न परमाणुओ ंके बारे मɅ 
परमाणुओ ंया समहूɉ कȧ èथाǓनक åयवèथा मɅ 
अतंर स ेउ×पÛन समावयवता कहलाती है? 
(ͪवͧशçट मɅ)

सरंचना×मक 
समावयवता

èटȣǐरयो 
आइसोमǐेरÏम

Ïयाͧमतीय 
समावयवता

ऑिÜटकल 
आइसोमǐेरÏम

29 English
β-D(+)-Glucose has how many asymmetric 
carbons?

4 3 6 5

Hindi
β-D(+) - Êलकूोज मɅ ͩकतने असमͧमत काब[न 
होत ेहɇ? 4 3 6 5

30 English Hydrolysis of starch yields sucrose glucose fructose both (b) and (c)

Hindi èटाच[ कȧ हाइĜोͧलͧसस स ेͧमलता है? सĐुोज Êलकूोज ĥुÈटोज दोनɉ (बी) और (सी)

31 English
Which of the following is the monomer of 
cellulose?

Ribose Fructose Glucose Sucrose

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन-सा सãेयुलोज का 
मोनोमर है?

राइबोज़ ĥुÈटोज Êलकूोज सĐुोज

32 English D-Glucose and D-Galactose are anomers epimers optical isomers none of the above

Hindi डी-Êलकूोज और डी-गलेैÈटोज हɇ एनोमस[ एͪपमस[ ऑिÜटकल आइसोमस[ इनमɅ स ेकोई नहȣं

33 English Cellulose is a polymer of
D-glucose 
monomers joined by 
β-glycosidic linkages

D-glucose 
monomers joined by 
α-glycosidic linkages

D-galactose 
monomers joined by 
α-glycosidic linkages

D-galactose 
monomers joined by 
β-glycosidic linkages



Hindi सãेयुलोज का बहुलक है
डी-Êलकूोज मोनोमस[ 
β-Êलाइकोͧसͫडक 
ͧलकेंज स ेजुड़त ेहɇ

डी-Êलकूोज मोनोमस[ 
α-Êलाइकोͧसͫडक 
ͧलकेंज स ेजुड़त ेहɇ

डी-गलेैÈटोज 
मोनोमस[ α-
Êलाइकोͧसͫडक 
ͧलकेंज स ेजुड़त ेहɇ

डी-गलेैÈटोज 
मोनोमस[ β-
Êलाइकोͧसͫडक 
ͧलकेंज स ेजुड़त ेहɇ

34 English Glucose is converted to mannose by racemisation anomerisation epimerisation none of the above

Hindi Êलकूोज को मनैोज मɅ पǐरवǓत [त ͩकया जाता है रेͧसमाइजेशन एनोमेराइजेशन एͪपमेराइजेशन इनमɅ स ेकोई नहȣं

35 English Which of the following is an example of epimers? Glucose & Galactose Glucose & Ribose Mannose & Glucose
Galactose & 
Mannose

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन-सा एͪपमस[ का उदाहरण 
है?

Êलकूोज और 
गलेैÈटोज Êलकूोज और राइबोज मनैोज और Êलकूोज गलेैÈटोज और मनैोज

36 English
Anthrone method is preferred in the 
determination of ___________

Carbohydrates Proteins Vitamins Fats

Hindi
__________ के Ǔनधा[रण मɅ एĠंोन ͪवͬध को 
Ĥाथͧमकता दȣ जाती है काबȾहाइĜटे Ĥोटȣन ͪवटाͧमन वसा

37 English
Which of the following is the general formula of 
Carbohydrates?

(C4H2O)n (C6H2O)n (CH2O)n C2H2O)n COOH

Hindi
Ǔनàनͧलͨखत मɅ स ेकौन सा काबȾहाइĜटे का 
सामाÛय सğू है?

(C4H2O)n (C6H2O)n (CH2O)n C2H2O)n COOH

38 English
Which of the following is the smallest 
carbohydrate – triose?

Ribose Glucose Glyceraldehyde Sucrose

Hindi
Ǔनàन मɅ स ेकौन-सा सबस ेछोटा काबȾहाइĜटे है-
Ěायोज?

राइबोज़ Êलकूोज िÊलसरािãडहाइड सĐुोज

39 English Which of the following has reducing properties? Mucic acid Glucaric acid Gluconic acid Glucuronic acid

Hindi
Ǔनàनͧलͨखत मɅ स ेͩकसमɅ कम करने वाल ेगणु 
हɇ? àयूͧ सक एͧसड Êलकूोǐरक एͧसड ÊलकूोǓनक एͧसड ÊलकूोरोǓनक एͧसड

40 English
Which of the following does not have sulphuric 
acid groups?

Heparin Kerato sulfate Hyaluronic acid Chondroitin sulfate

Hindi
Ǔनàनͧलͨखत मɅ स ेͩकसमɅ सãÝयǐूरक एͧसड 
समहू नहȣं है?

हेपǐरन केराटो सãफेट हयालरूोǓनक एͧसड चɉĜोइǑटन सãफेट


